Work-Energy

1. For each vector pair below, sketch the pair and calculate A-B.

a. A=5i+2j B=1i43]

b. |4|=2-v3,0=45° B=—17+4]
c. A=—6i+6] B=117487
d. A=-2i+6] B=-5i+27
e. |4|=2-V10,6=-71.6" B=-3i+1]
f A=—5i+2] B=-3i+1j
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Work-Energy

An initially stationary crate of mass m is pulled a
distance L up a frictionless ramp to a height # where
it stops.

a) Find an expression for the work ¥, done on the crate _
by gravity during the lift in terms of m, 4, and g.

b) Find an expression for the work 7 done on the crate by the tension 7 in the cable
. during the lift in termOs( of m, hand g.
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Work-Energy

A box with mass m, initially at rest, is pushed a distance d along a surface with a force '
making and angle 0 with the horizontal. The coefficient of friction between the box and
the surface is z4.

a) Find an expression for the final velocity of the box, V, using Work-Energy techniques.

b) Find an expression for final velocity of the box using Newton's Second Law and
kinematics and show that the answer is the same. /' %/
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